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Solution Stoichiometry Practice #2
1.  Calculate the mass of Ag2S produced when 125 mL of 0.200 M AgNO3 is added to 

     excess Na2S solution.  ("Excess" Na2S means that you have more than you need - 

     therefore, AgNO3 is limiting.)

2.  What mass of Mg(OH)2 is produced when 100 mL of 0.42 M Mg(NO3)2 is added to 

     excess NaOH solution?

3.  What mass of Fe(OH)3 is produced when 35 mL of 0.250 M Fe(NO​​3)3 solution is 

     mixed with 55 mL of a 0.180 M KOH solution?  (If you have enough info to calculate 

     the moles of both reactants, this is a limiting reactant problem).

4.  What mass of Al2S3 produced when 100 mL of 0.50 M AlCl3 is added to 100 mL of 

     0.50 M Na2S?

5.  A 100.0 mL aliquot of 0.200 M aqueous potassium hydroxide is mixed with 100.0 mL 

    of 0.200 M aqueous magnesium nitrate.


a.  Write a balanced chemical equation for any reaction that occurs.


b.  What precipitate forms?


c.  What mass of precipitate forms?


d.  Calculate the concentration of each ion remaining in solution after 

                 precipitation is complete.  Assume additive volume.

6.  How many grams of silver chloride can be prepared by the reaction of 100.0 mL of 

    0.20 M silver nitrate with 100.0 mL of 0.15 M calcium chloride?  Calculate the 

    concentrations of  each ion remaining in solution after precipitation occurs.  Assume 

    additive volume.

